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(1) ueAoiuAL w81 wRudl.
() yaldgai=u usA weudl.

(38) s wdi As af el ¥Aal g 15,000
SLUAML 320 st 1 adel Aedl Gyl Yy wl
dl d UL oYy yeR YL,

(%) WEL uwteR, Frud GuouaL W2l uwHineR, ga
UFHER AHANA),

(W) A AB=I € dl A < Bl 54 ARws 33 ® ?
(€) A ud x 2 y ol A4+l $3is As o sl U A
s a2l Bud Ay,

R (2) doeilad Auedl envy 2wl A Baudly widfued 52, €
(o) QA el WAl x 2 y @A) uerioitis DD, ¢

x: 240 230 220 210 200 190 180 170 160
y: 42 49 § 6 62 67 55 61 59
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3 () yalgaudd werd wnandl, Y

~

(&) =04 ¥ A32ld g 140 @ (A4 anl
2 aldifly Adlserll dad yalquuet fadl.

aw 2005 2006 2007 2008 2009
Geoaen 180 205 212 219 230

MY AL

3 (a) dusly yalqunddl dd eudl. Y

~

(&) QA ufsdl w2 =038 U3 yalqx 80
ad yalqud Aadl.

qy 2002 2003 2004 2005 2006
Gaa 96 100 105 119 125

¥ (2) audl Ruys tisil vl ggudl d €2 s e

Guidl gRuAl,

(o) ~0AAQ 3Rl vl WEL uxe:, B Ux-er, ¢
g6 Wi A4l A wdl ga qudl 6 am
dl AEl Y=g UM,

Gux | dladdl | o-Raicuas-l
alvuy vy
15-19 | 50,000 1105
20-24 | 45,000 5100
25-29 | 40,000 6300
30-34 | 35,000 4200
35-39 | 30,000 2700
40-44 | 20,000 600
45-49 | 15,000 63
Y4
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¥ (@) audl Rvus Aissd Gueflan weud). €
(o) 0Q 2l 6 ada-t Alel A WL Yeyer ¢

AL B qUAlL

Guz A adr B udr wldd
audl [eremyy | audl |edod yy [ aadl
5l 43 | 16,000 45 8,000 35 5,000
5-10 40,000 20 30,000 18 35,000
10-20 25,000 18 20,000 13 25,000

N
20-40 15,000 12 10,000 15 18,000
404lay | 14,000 49 10,000 60 17,000
v () ARusn usid Rl €
5 3 1
(o) A 4=|2 -1 2/ dud PL_742_54+137=0 ¢
4 1 3
A 5.
AYql
2 0 1 1 -2 3
w ¥ @) R 4|1 1 ol B=|-5 4 -6| dud )
0 2 3 4 2 3

A% +2(4-pB) Q.
(o) 02 wllsRel-) G3a o AR ueedl G3. o
4x+7y=13

~5x+9z =55
Xt+ty+z=6.
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ENGLISH VERSION

1  Give answer of any four out of six question. 14

(1) Explain types of correlation.

(2) Explain types of Business forecasting.

(3) Among 15,000 children born in a city during
one year, 320 died within one year. Find
infant mortality rate of the city.

(4 Explain GFR, SFR, TFR.

(5) If AB=I then A is what matrix of B.

6) If the ranks of two variables x and y are
exactly in same order then what is the value

of v4%7?

2 (a) What is probable error ? How will you 6
interprete its value.
(b) Find the correlation coefficient using following 8
data.

x: 240 230 220 210 200 190 180 170 160
y: 42 49 5 6 62 67 55 61 59

3 (a) Explain in business forecasting importance. 6°
(b) Taking =04 and initial forecast as 140 9
determine the production forecast for following
years using exponential smoothing method.

Year 2005 2006 2007 2008 2009
Production 180 205 212 219 230

OR
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83 (a) Explain different methods of forecasting. 5
() Taking =08 and initial forecast as 80 9
determine the production forecast for following
years using exponential smoothing method.

Year 2002 2003 2004 2005 2006
Values 96 100 105 119 125

4 (a) State the defects of vital statistics and suggest 6
the steps to remove these defects.
(b) From the following data about a city 8
Calculate GFR, SFR, TFR. Total population
of the city is 6 lakhs. Find the crule birth

ratio.
Age | Number of | Births
Female
15-19 | 50,000 1105
20-24| 45,000 5100
25-29| 40,000 6300
30-34 | 35,000 4200
35-39 30,000 2700
40-44 | 20,000 600
45-49 15,000 63
OR
4 (a) Explain utility of vital statistics. 6

(b) Calculate CDR and SDR of the following 8
two towns and compare them.
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Age City A City B Standard
Population | Deathaper | Population| Deathsper | Population
thousand thousand
Below 5 16,000 45 8,000 36 5,000
5-10 40,000 20 30,000 18 36,000
10-20 25,000 18 20,000 13 25,000
20-40 15,000 12 10,000 15 18,000
40above 14,000 49 10,000 60 17,000
5 (a) Explain different types of matrics. 6
5 3 1
() If 4=|2 -1 2| prove that 8
4 1 3
A —74* —54+137=0
OR
2 01 I -2 3
6§ (@ If A=[1 1 0| B=|-5 4 —6| calculate 7
o 2 3 4 2 3
2
A" +2(4-B)-
(b) Solve the following equations using the 7.
method of matrix inversion :
4x+T7y=13
-5x+9z=55
x+y+z=6.
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